A

RREERAR (L) FRAF

& B3z R E

SE],

NEAETE
M LME (THEDL)
MULME (AFEEEL@ 360°)
& K

PR

BAATESH

PRI SREER
B R R
REEXRGEELER
BEEX RS EBILER
AHESRNRERH
MTTFd/MTBF

fte Bk

T A BRI FE (typ.) RIEE
T AR B RIRFE(typ.) BEERX
WS DEBRR
WHRRBRAAR

PWM frequency
BRI M R ZRP
e B S

BRLLBRBE

R mBSEE

BRLHEBE

TR

HE BSEETR
BREKWBE TR
BEBSEETR
BREHEEEBE TR

MBS HESHK

AT E

Prir &4

B/NFEw S ETRIR

TR FRE (with wires)
TEMEERE (IR B5%)

TR 1R E (with B2 EB4)

IEC 68-2-6 R3] (Amax =0.75mm, f=5 ... 2000 Hz)
IEC 68-2-27 )R i

sa=ya;-3

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230... 1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 67000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 67000-4-6, Immission HF conducted (0. 15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, Tbar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

BEBBEHFAR (L3F) AFRAF TEL:400-800-5927 5"&1

www.tifu-auto.com

o

% of meas. range
% of meas. range
bit

kHz

kHz

LS

Ls

pom/°K

years

VDC

mA

mA

kOhm

nF

kHz

mm?

mm?

mm?

mm?

movements
°c

°c

°c

g

g

aBu\V/m)
aBuVv/m)
KV

V/m

KV

KV

Vemk
A/m
GOhm
KV

MH-C

0... 360

+0.3

+0.5

o7

72

0.7

%)

7.66

(800)

4600

25

668/ 668
5(=10%)

(14)

9

70

7

or7..17

yes

Wires (3x)
0.25 (AWG24)
Cable 3pole
0.25 (AWG24)
yes

Ribbon cable 6pole
0.09 (AWG28)
Cable 6pole
0.25 (AWG24)

360 (continuous)
P68

no limitation

-40 ... +125

-40 ... +105

-40 ... +85

50

200

max. 30
max. 37
+4 /%8
30
e

E3

70

30

20

7

MH-C2

Vert-X 22E - 5V / PWM

BRI A

REa#s
I R
K f% B ER
BRI ARER

P REREA
BB SR P68
Pt

SE BRSO B 5 %
BEROES
BEENE

BERERERR

BREESAETEN
D PENBEH

Errors and omissions excepted. Subject to
change without notice. / State: 01.10.10

CONIELEC

A company of the Siedle-Group

18017427003



RRBIEHEAR (L) FRAF

R}

Vert-X 22E - 5V / PWM
TR
) S N
545 #Wires 3pole
7TH &R B85 6pole
O M 45 R B 48
RS
AFR B 8B 4K 3pole
67 3% [ £ 88,48 6pole
fo kY 3 N u
EBRE CWi 1 SRR B L
EM#E CCWE2
TR, E@#E CWAI %3 S KEM RS
TR, EMBE CCWH k4 017[i%E10cm
TR, RXESHETIES 03| 3%30cm
05#5 #50cm
WiEe 99TE R K E
PWM#R #4 BYKE
0245 #1.0m
06T 1£3.0m
fesk 108 #£5.0m
5VDCHR 2 QoA B B
Vert-X 2 2 E 2 7 3 6 2 4 1 5 0 5
BREA
36 S A360°
xxA] %03 to 35; Declaration in 10° steps
QOIS TR A
R RE
7MH-C
HUAR A5 M AR A
22E17 1% Al BR %2 3% size 9 ; BAMEH 1T Hl#Gtype 1
22E24R M A BR R 3% size 9 ; BAME 1T Hl#Gtype 2
22E9MIE B HRINE  BHRBAMERTIG
ik (REEFER)
1T il g M AT LA MH-C MH-C2
THIS X -
T Hl4&4% X _
#0x% ... y% Ub (within 5% ... 95% Ub) X
TR IR SR R X
FFRINEETTL (max. 2) X .
BRI RS = =
SEREB S A SEE 30° to 360° (ex factory) X -
A TRE (KA

BIER/MA JQARTE (B & L) - -
HE¥ A MCW/CCW AR E / Al 4wiE (MRS 1) - -
REIRARE ARE (FNKB KM - -

CONIELEC

A company of the Siedle-Group

EEREEEAR (L) AFRAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RREEHEAR (LI FRA

.|

-

=]

= mbgienss

7 otdr
workioo positic- N
o Cc -
" e E
(¥4
| n L
L
] 1T T
] =y [ ]
'l
2 % = 1 -
= =L
1 1y
4 a P e
iy el el
.‘l. b e —
croa L
1
Iy T B
10 =5
arld -
L
_inz=zamass Lwdz _
wacsing pos tio (0
|, 85 E
1 Ij]— - o
! ] | oy =
_ ] il SN
§_\| e 1 =T
S ETTTTM T sEE e
1 = L
Y
.____,II. =
) 4 g
i —— - —
] - - -
. , Bf b
(] el i =l - Lo
B

Vert-X 22E2 xxx xxX 5xx
Vert-X 22E2 xxx XXX 7xx

B4 (incl.)
1x BEXRF
2x HHERTEE
1244 M3x8

THRUEEQZ)MHEERTIEATFRAED
SERERER

Vert-X 22E2 xxx XXX 4xx
Vert-X 22E2 xxx XXX 6xx
B4 (incl.)

1x BEXRF

2x AL E

124 M3x8

THRMEQZ)MEERTIE R FRKED
SERERFR

CONIELEC

A company of the Siedle-Group

BHEREEFEAR (L) AFRAT TEL:400-800-5927 #T.: 18017427003

www.tifu-auto.com



A

RRETFEHAR (L) FRA

|

Gl

_incedamass L BEE
wor<iag Zosi.ion
ST T
¥ = -
i 2
i I
0 I
S | — |
o ] |
1 C
Y
“ - 1 il
& i |
i A i
= — ey = -
sl oes 0.t
0
“inb=. mass i R
-.-.'[:"<::ir1:_ s Tion
Gy o 1 b £
e - - ot - =t P W ]
[l ]
=
;t‘\\ [ | — R
N " N | o 71
@) 5 |- F
} Yy il L
. | |
=4 - 1
Ty |
|_|. —
U'I — e == =
[ - ~
x SRR 12 5
L =1 z =

Vert-X 22E1 xxx xxx 5xx
Vert-X 22E1 xxx XXX 7xx

B4 (incl.)
X BERXRF
2x g RIS
1244 M3x8

THEME (Z) MEMERTIEATRKED

SEREKER

Vert-X 22E1 xxx Xxx 4xx
Vert-X 22E1 xxx XXX 6xx

B4 (incl.)
1x BEXRF
2x W RELE
124 M3x8

THME (Z) MEERTIE R TR REL

CONIELEC

A company of the Siedle-Group

BREBEEA (L) ARAT TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



AW

RREBEEAR (L) FRAF

Vert-X 22E2
SEREES
IHLE (2)

MH-C14.40mm
MH-C JT£%13.90mm

BT A TR KEL
dx+£0.25mm
dy£0.25mm
dz+0.5mm

ST

Vert-X 22E1
SERERER

THLE (2)
MH-C3.00mm
MH-C JT%2.50mm

BMERITINAE A TR KED
' dx£0.25mm

dy£0.25mm

] dz+0.5mm

CONIELEC

A company of the Siedle-Group

BEREEEAR (E¥) BFRAT TEL:A400-800-5927 3K T.: 18017427003

www.tifu-auto.com



EEAR (B HRAE

Al

RRH

Vert-X 22E

B¢+
B EX T

Errors and omissions excepted. Subject to
change without notice. / State: 01.10.10

CONIELEC

A company of the Siedle-Group

BEREBEA (B¥) BRRAT TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6



